MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

CHALLENGE Name:

Time: Seore:
50 0.9 X 2.79 = w0 0.003 x 0 =
8 % (—193) = W) —0.4 x 0.5 =
53 0.002 x 0.261 = 168) (.01 X 388 =
51 3 % 0.028 = 169 0.0011 x (—0.0232) =
155 —0.0011 x 0.359 = 1) 1.1 x 14.3 =
56 0.003 x (—=1.9) = ) —0.01 x (—20.9) =
50,08 x (—0.028) = 0,03 x (—0.351) =
5 —0.11 x (—4.3) = 70,0001 x (—49.1) =
159 —8 X 348 = ) —0.0011 x (—0.0256) =
00 —0.7 x (—=219) = ) —0.0006 x (—0.04) =
W) 0,003 x 374 = w0 0.1 x (—347) =
162) (0.4 x 33.2 = 11 0.03 x 0.069 =
163 —0.0005 X (—3.62) = 1) (0.006 x 14.3 =
) 0.4 x (—42.3) = w3 % (—0.262) =
) 1% 0.01 = 50 0.8 x (—0.086) =
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